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Pseudogene transcription: how to select
the threshold?

Non-zero
pseudogene
expression values
(DCPMs)
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Threshold = 0.1
Alignment pairs Expressed Not expressed
0 184 3005
1 to 10 1720 2945
>10 760 818

Notes:
• Final number; considered expressed
• Apply PseudoSeq (evaluate all alignment pairs)

– Expression (pgene) >> Expression (gene)
– Discordant expression pattern
– Concordant expression pattern

• Too many alignment pairs; evaluation not feasible

Considered
expressed
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Threshold = 0.01

Alignment pairs Expressed Not expressed
0 576 2613
1 to 10 2807 1858
>10 1121 457

Threshold = 0.05

Alignment pairs Expressed Not expressed
0 268 2921
1 to 10 2094 2571
>10 863 715

Threshold = 0.1

Alignment pairs Expressed Not expressed
0 184 3005
1 to 10 1720 2945
>10 760 818

Threshold = 0.5

Alignment pairs Expressed Not expressed
0 64 3125
1 to 10 799 3866
>10 520 1058

Threshold = 1

Alignment pairs Expressed Not expressed
0 40 3149
1 to 10 526 4139
>10 418 1160

Threshold = 5

Alignment pairs Expressed Not expressed
0 6 3183
1 to 10 148 4517
>10 204 1374

More thresholds



6



7



8



9



10



11


